6 BEIEREORE

(1) EWeHkE

L3 A B E
BBF0 30 £ 11 B | BiEiAmEIR (FREE 1005) LT
31 3 EEERLIC LA ERMEICHE
31 11 EEFWRILIEREEICER
33 6 AR (38ER) B R EE
34 8 ERETEMyH — S EHE S R RIE (20 HE
37 7 718 (55ER ) A EE
ag 1 857 R AR E SR
38 5 4% (550K ) A EE
40 8 7 VH (50FF) 4 %E
41 8 5 PE (OFR ) 1 EE
42 5 BREES (A0S FisE
42 8 HEEREREE
47 12 RER (BOER) Bl TRERER288IR
57 9 SRERISER F5P 288FK — 300FK
{ESFRERBELL 208K — OFR
58 10 EHRERETERT
59 3 BETERR
ER 3 4 BRET A TP HERRE
5 4 FE2R AN
ErEI R PRI (B00BF — 2966K) ERBRLITE (28068 — 24258)
12 4 RSN, R
SFRIRER M EETE (206K — 2956K) ERBERMITTE (24268 — 2065K)
15 9 B FIF ER SN BT (29568 — 294FR)
i9 9 MR AR AR
20 1 R ARSI E (2045 — 206ER)
23 8 RERER SRS
24 1 BAEERAREERECEE

_12_




(3) BT AR

£ A % S

RAFD 26 £ 11 B | BTHIEEME 2HREE (WR-AH-ERARD —4F 2458
27 § FHLIEEE OPRIER : — AR 33EF
28 " ERMIRER SR GRS 185R) . —AR 4FRIBER  —AR 37EF {3 13EK B 50E
32 11 RIRIASE SPRIMER: —A% 45F5F (T 136 Bt 58EK

33 6 HREDOE 2EREIER—A% 4358 R 136 Ef 56EK
35 9 . | HERESDEEE  — 4% 23FK, 4545 2058, {58 135K, 5t 56ER
39 5 | AEHNE —A% IERIRER: — % 208K, 4% 2065, In5E 1368 Ef 53ER
39 7 | BHERRE-(SeE2IAKE
44 12 FERTSWERE 2HREE (AR ERAR-BRD
1 —#RIMEE 45FK. $LILIRER 106K & 557K (FRBERER 55 1088550
45 7 ERARRER
45 7 ER A R AR — (484K
56 4 =L 10BRE—ARIRPRISZESE  — A8 55FK. {=i 10ER &t 65EF
ERE T 9 {REEEE BRI 105k — OFR: —#i% 555

5 7 BERAHZSHREH ‘

6 3 ZRFAOVE L —4—WERSEBERE

6§ 11 R AR S MR

B 10 H R0ENRF 35 M0
14 2 (81) B FERM TS ORERSG
16 ] ~EHhEREILERBRICIEE
19 5 BT RS
19 6 B A BT R A
21 4 EFRIRER& T TE (— A% 555K — —AB 32F%)
22 1 HaBHERICEE
24 7 BERBNESRES
25 4 SR

4) ERREkR

BRfD 24 & 7 A | BAERESUVBESh. RABABKFRELTERE
8

27 BT ET SR (6OER)
39 11 RIS J2FRI®ER Bt 92ER
41 2 S B RS

45 12 BT EERE. B
56 #EH% 15BE % —ARARHRICTE T, — 4% 75EK. (R 156K, B 90EK
58 12 HEBABFIRICERE
FRE 3 RIBBFERERESREEHE
IO OO RAIEG (BB A THMA 20,816m)
BRABRMEE (—# 695K — 715K)
PRSI EET
BEESRETERT
FRTESRTEET HEY 1505
Y #Epos 2)—hoRER, IEEW 8,998.30m
RETESRETIRET (EH 104. A 244)
7 4 TR - BRATEE (RLEBRER — RIESEER
' EHHA [ AIERED) . A8, ERAB. MRE . BRAR.

[=-]

(=T = B ) I - <
[AS T+ N = /L T )

~
r

EEE. EREERED

8 11 MR EEREL2—ICIEE
11 4 BMARRELTETR
12 5 BRI 2 R ELS
16 6 ~ZHERNGHRIZEE
19 2 BRI HRE
21 3 B Rl A PR B B (1505 — 1005K)
22 3 MR MR 2 EEES
23 4 HRIBET SR
2410 BEFALTYVARATLER
25 4 ErRIR R AR AE T (100FR — 98FF)
26 4 EANE SRS
27 3 KEAXRBRESEME

_13_



(5) KEPmME

3 B # =

BB 26 & 12 B | REHERHER SRME(RE- A8 -ERAR) RN 0E
27 9 EEEATRE 85K 1605

29 6 EBRREEFEAHER K 585
30 3 28T 1 FHESIGHAERAEE 1858 (B2 446 HIEAT, 4511 [EEEIMA)
30 4 AERFENATHE(ER 1325 208)
33 3 EEEIRERFTR L
33 4 SRR RREFTNICHD (BEHE 28, B8 4048) Bl 6K
40 0 By fliess
42 3 HEGBARL KERRESEBRE
46 3 SERFOLOFEE—LRE, HERET
47 6 AT &tz
54 0 5K SERIEER
56 8 SNESHEEOME
— R 2ERISER (—ARFRER 110BR, #54% 50EK, {54 158K, £t 1755R)
61 11 R ImERICEE
63 2 ERANL Y1 —S— IR IRR I E e
63 3 4% S0FRE —IRIRER 48ERICER. —H% 15868, {54 1588, & 173E%
TR 4 9 B8 15SEREBELE
5 3 EREHE
5 4 ERABARREE (—48 158FF — 1536R)
10 9 LRyl o) e N b
13 2 VRREETEET
14 10 FREEETERT :

B 8#BE+SESmoL U —BSR, SO ) —NRE R (T .
IETE% 10,426.59m

15 1 SRS

BEEE [AF, SR ERAR. R, B . FEE

BRI PR AR (— AR 1585k — —AR146ER ME34ER)

TERRERMEE (—IR15358 — —AR146ER BEE4ER)

MERRLLTER

FERERTL ., AB R RTINS

NS EE

SHIERRA 2 RMPSG
HHFREBURUREENREE-~RFNEERBIHOEEICLYAE

15
19
21
23

G N b

._.14_



